A Gene-free Model 1

25 g=1.0
0

~-1.0 -05 0.0 0.5 1.0

100 g=0.5 —
oL~k

-1.0 -0.5 0.0 0.5 1.0
250
o]
0

-1.0 -0.5 0.0 0.5 1.0
Value of the variable

Cell counts

Gene-free Model 3

251 g=1.0
0 . : .
w -1.0 -05 0.0 0.5 1.0
£ 250/
3 g=0.5 H
(©)
g 070 —05 o0 0.5 1.0
250+
g=0.2
~-1.0 -0.5 0.0 0.5 1.0
Value of the variable
3-gene Model 1
50 L g=10 .
o 2000 025 050 075 1.00
C n
3 100 L Alg = 0.5 — 5
@) C
g 0000 025 050 075 1.00
o a
1001 | g=0.2
0000 025 050 095 1.00
Concentration
3-gene Model 1
(Hill functions)
50 'L- g:]__o
o 2000 025 050 075 1.00
(e
8100' 0 __g:O,S
S L
8 0000 035 050 075 1.00
2501 | g=0.2 .

0000 055 050 095 1.00
Concentration

Gene-free Model 2

25 g=1.0

o : : :
w -10 -05 0.0 0.5 1.0
5
o 50{ 9g=0.5
U M
3 %10 —05 00 0.5 1.0
O

250{ T

g=0.2 H

-1.0 -05 0.0 0.5 1.0
Value of the variable

0

Gene-free Model 4

25-’1"'-"——-—-g;]non,—n—-—-/—'_lj
o ’-10 -05 00 05 10
(e
o 207 g=0.5
S S =L
3 {0 —05 00 0.5 1.0
© 2507
g=\0.2 H
0 : : : .
~-1.0 -05 0.0 0.5 1.0
Value of the variable
3-gene Model 2
501 L g=10 _
o 2000 025 050 075 1.00
c n]
2 °% L g=05 _
) S
g 0000 025 050 075 1.00
100+ | g=0.2
0000 025 050 095 1.00
Concentration
3-gene Model 2
(Hill functions)
50- | g=1.0
o 2000 025 050 075 1.00
c
O s T . __'\..
g 0000 035 050 075 1.00
1001 ||/ g=0.2

0.00 025 0.50 0.75 1.00
Concentration



